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The manual is for foreigners who begin to learn Russian from
scratch. The major difference this manual from all textbooks on
the Russian language for foreigners is the absence of unnecessary
information and unnecessary words. If you learn all the models
presented in this manual, you will be able to talk with native speakers
of Russian without any problems, and by the way and without efforts
you will learn the grammar well.
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From the author

Many foreigners who wish to learn Russian encounter the
problem of searching a good textbook. To my mind, the
textbooks that I had during my college years were very
complicated and confusing to study Russian. Using them to learn
Russian could be compared to my learning English at school
for 6 years and at college for 2 years — I spent 8 years studying
English, but I can say only a couple phrases for sure and one
of them is “My name is Tatyana”. That’s pretty much all my
knowledge of English. However, I have grade “A” in English
in my college certificate. Possibly there are good textbooks
to learn Russian but I haven’t met them yet.

What are the major differences characterizing my textbook?
First, there is nothing more than necessary material, for example,
phonetic exercises are excluded. Nowadays there are numerous
websites that will teach you to read in Russian and help you with
pronunciation.

Unlikely you will get rid of accent so don’t put too much
effort in it. While speaking Russian with native speakers you
will catch up in correct pronunciation. Second, you are going
to study Russian grammar from the very first lesson even before
you start speaking Russian. While studying this textbook you will
learn the way of using tenses in Russian, correlation between
verbal aspect and tense and understanding the cases of nouns or



pronouns in relation to the verb.

There is a lot of tables in the textbook which will help you
in studying language.

One more moment to which I'd like to pay your attention.
There are phenomena in each language which are very difficult
to explain. Sometimes native speakers don’t know why they
speak so, instead of differently. Therefore the certain words and
expressions are easier to learn and not to puzzle your brains why
they are used so.

Why does the textbook have such strange title? The matter
is that the people, wishing to learn Russian, seem a little bit
crazy. Now when Russia is under the sanctions, when economy
is in crisis, the idea of studying Russian is not the best somehow.
But I am precisely assured that to speak Russian (as well as any
other language however) is fine! And if you arrive to Russia
sometime, find friends here

(the Russian friend — that’s cool!) and speak Russian with
them by means of my textbook I shall be very glad.

Certainly, it would be quite good if someone helped you
to study language, but nobody cancelled motivation-power.
There would be a desire as Russians like to say.
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Learning to read in Russian is not very difficult. We can
say — it’s the easiest thing in Russian. Just put the sounds one
by one. For example, mama (mama), uatu (idti), 3Hato (znaju),
kynuTh (kupit’). Note the letter b, which softens the preceding
consonant, but does not make sound itself. Therefore, at the end
of the word “kynuts” it should be pronounced soft sound (T”).
In the Internet (or in the You Tube) you can find a program and
video that will teach you to read in Russian.



The Terms

To learn foreign language, it is necessary to know the
basic terms. Without them training is impossible. (Certainly,
if you live in the Russian-speaking environment, communicate
in Russian every day, it will not be a controlling factor). For
those who has no such conditions, without terms it is impossible

in any way.
The Gender (masculine, feminine, neuter)
The Stem
The Number (singular, plural)
The Ending

The Tense (the Past, the Present, the Future)

The Verbal aspect (imperfective, perfective)

The Infinitive

The Imperative mood (imperative)

The Case

The Subject

The Predicate

The Comparative degree

The Part of speech (a noun, an adjective, a verb, a pronoun, an
adverb, the numeral, a participle, a preposition, a conjunction)

The Synonym

The Antonym

The Sound (soft, hard, unvoiced, voiced)



The Letter (vowel, consonant)
The Sentence

The Accent

The Conjugation



The Greeting and Farewell in Russian

The basic greetings in Russian:

3apaBcrByiiTe! (=zdrastvuyte) o cBmpanms! (= do
svidaniya) are used are used when addressed to strangers.

IIpusert! (=privet) Iloka! (= poka) [{o 3aBTpa! (=do savtra)

Mo Bcrpeun! (=do fstrechi) — is used when addressed
to friends.



The Introducing

— Kak... 30Byr? (What is....name?) — Mens 30ByT TaTbsiHa.
(My name is Tatyana) — Ouens npusTHo. (Nice to meet you). —
Mens 30ByT ... (My name is ...... )

When this question is addressed to you, it contains the
pronoun BAC, in a reply BAC is replaced by the pronoun ME-
H{. When you want to know the name of another person, you
should ask: — Kak EI'O (EE, MX) 30ByT? In a reply the pronoun
doesn’t change:

Kak ero 30ByT? (What is his name?) — EI'O 3oByT UBan. (HIS
name is Ivan).

Kak eé 30ByT? (What is her name?) — EE 308yt Ona. (HER
name is Olya).

Kak ux 30By1? (What are their names?) — UX 30ByT Ouier
u Harama. (THEIR names are Oleg and Natasha).

A - MEHH (I - ME)
MBI — Hac (we —us)
Tbl — TeGa (you — you)
KAK BbI - BAC (YOU - YOU) 30BYT?
oH — ero (he — him)

oHa — eé (she — her)

oHH — ux (they — them)




Answer the question:

Kak Bac 30ByT? MeHs 30BYT. ..

Remember, that use of pronouns Tsl or Bbl depend on whom
you address to.

“Kak Bac 30ByT?” You ask when referring to a stranger or
to an adult. “Kak 1e6s 30ByT?” one might ask a child only. For
example, it would be indecent to ask an unknown girl: “Kak te6s
30ByT?”. Girls do not beat you, of course, for such question -),
but it is better not to ask so.



The Gender of Nouns

There are 3 genders of nouns in Russian. First they are should
be learnt. The gender of a noun is determined very simply. When
a noun ends in -A or -4, then it is feminine. When a noun ends
in -O or -E, then it is neuter. All other nouns are masculine
(except of mana, neaymka, asaas). Why do we need to know
the gender of this or that noun? Noun’s ending varies in six cases
in Russian — ((. And it doesn’t just vary, but varies in relation
to the gender. Therefore, it is important to know the gender
of a noun. It determines the choice of endings. When you just
nominate an object or a person it is case 1 (nominative). In case
I (nominative) the noun’s ending doesn’t change. For example,
you say: 910 TesedoHn. Or you can ask: 1o npunTep? ITO 11BE-
TOK?

When you want to know how an object is called in Russian, the
correct question is: “Kak 31o HaspBaercsa no-pyccku?” In reply
you will hear, for example: “3J1o codaka”.

Masculine gender — Feminine gender —A, -5 — Neuter
gender — O, -E

OH — OHA — OHO

KOMIIBIOTEp — JIEBYIIKA — OKHO

Exercise 1.

(The correct answers (Keys) can be found at the end of the
textbook.)



Find the meanings of the words in the dictionary. Define the
gender of nouns on the sample.

Sample: MammHa — oHa (she), feminine gender. Tenegon —
he (on), masculine gender. Mosoko — it (0HO), neuter gender.

Cecrpa, OpaT, MalvHa, CKaiI, MHTEPHET, KOMITbIOTEp, Teie-
BU30p, co0aKa, OKHO, MOJIOKO, TAcCIOPT, BHU3a, KOIIKA, PydKa,
Tyaser, nuBo, Anonus, Kuran, Poccusi, yausepcurer.

The gender of a noun determines the choice of a pronoun
which it refers to, such as moii (masculine gender), most (feminine
gender), Mmo€ (neutral gender), mou (plural). For example, it is
wrong to say: 1o Mou xkeHa. The noun “xeHna” is of feminine
gender, therefore, you must choose the pronoun “mos1”. And then
the correct answer is: 9To MO KeHa.

Compare correct and incorrect answers in the table
below:

DTO0 MOsI cECTpa. — IPABUJIbHO. DTO MOU CECTPA. — HENTPABUJIb-
HO.

370 MO¥1 Opar. — MpaBUILHO. DTO MOsI OpaT. — HEMPABUIIBLHO.

DTO MOSI MalllMHA. — IPABUJIBHO. DTO MOE MallliHa. — HeTlpa-
BUJIBHO.

310 MOU cobaka. — HEMPaBWJIbHO. JTO MOsI codaka. — Tpa-
BUJIBHO.

DTO MOU AETU. — HENTPABUJIBHO. ITO MOM JIETU. — TPABUIILHO.
(Plural noun)

DTO MO KOMIBIOTEDP. — MPABUJIBHO. JTO MOsI KOMIBIOTED. —
HEMPaBUJIbHO.



DTO MOH ApY3bsl. — HENPABUJIBHO. DTO MOU APY3bsl. — Ipa-
BUJIBHO.



The Singular and Plural Nouns

For the nouns of masculine and feminine. When the stem ends
in K, T, X, I, I, 7K, Y or a word ends in —b, the ending is 1.
When it ends in other letters, the ending is — bI. For example,
MamHa — mammnabl, kaul'a — kaurHd, croJI — cronbl

The nouns of neutral gender in plural have endings —A, — f

For example, OKHO — OKHA, Si1110 —sIIA

Some nouns form plural number in other way. These words
you have to memorize!

Hepeso (1) — nepeBbst (many)

Pe6éHOK — netn

HApyr — npy3bs

Yuurens — yaurenst

Hom — noma

Yenosek — Joau

I'na3 — rma3za

I'opon — ropona

Exercise 2.

Find the meanings of the words in the dictionary. Make on
the sample. Sample: kaura — kaurd



KomnsioTep
Dakc
Marasux
Curapeta
Oxto
Micemo
Keapmipa
Kmrou
Hiuo
Lxona
bonsHuLa
Kpyssa
Hom
Kapanpau
Asrobyc
Jlucr
Terpase
Crosaps
3eprano
Kpymka

YuuTens

APYT

Bpau
Tenedon
Bua
Yenosex
Tomugop
Jlumon
Cymxa
Komuara
TMoapyra
Cran
Pyuka
Pefénok
BONpoc
Tyanetr
MYARUHHA
AeBylKa
conar
p}'lir'.l
HOTa

KpOBATE

CTakaH




The Model - Y Bac

ectb..? =Do you have...?

Bbl — BAC
A -MEHA
2 Mbl — HaC ECTh
Tbl — Tebs
y OH — Hero
OHa — Heé
OHH - HHX

Case 1

Yro?

Kro?

Note that in case of positive answer to the question the ending
of a noun does not change: — Y Bac ectb mammna? (Do you have
acar?) — Y mens ectb mamvHa (I have a car). The only difference

1s that “Y Bac...” has changed to “Y mens...”
Exercise 3.
Give the positive answer to the questions:
1. V¥ Bac ectb pyuka? Y MeHs. ..
2.V Bac ectb Tenedon?
3.V Bac ectb KOMIIBIOTEDP?
4. Y Bac ectb nacropr?
5.V Bac ectb 3JIeKTpOHHAasA mourta? (=e-mail)

At the negative answer the noun’s ending changes. It depends




on the gender of a noun. You can look changes of endings in the
table.

Compare: YV mens ectb Opar. (I have a brother). — V mens
Het Opara. (I have no brother). In the first sentence you answer
positively to the question. The ending of the word “Gpat” does
not change. In the second sentence the ending of the word “Gpar”
has changed. As the word “Opat” is of masculine gender, so
the ending changes to —A. Y MeHs HeT OpaTA. Remember that
when you use the word “Her”, the ending of a noun is always
changing! We cannot say: ¥ meHs HeT Opar.

Compare the sentences: ¥ mensa ectb cectpa. (I have
a sister). — Y mens Het cectpol. (I have no sister). In the first
sentence the ending of the word “cectpa” does not change, as the
answer is positive. In the second sentence the ending of the word
“cectpa” has changed from —A to —bl, as the word “cectpa”
is of feminine gender. Thus, in the model “Y mens Her...” an
ending of a noun changes in relation to a noun’s gender.



The Model - Y mensa
HeT... =I have no...

A= MEHHA

Bbi - BAC Case 2
Case 2 Mbl — Hac HET
4 Thi — Tedn Masculine - A, - A1

OH — HETD Feminine - bl, - ¥

0Ha — Heg

OHH — HHX

If you notice, there are 2 endings in masculine and feminine
genders. There is a question what to choose —bl or —U, — A or
-A17 When the stem of a noun of masculine gender ends in a hard
consonant, then the ending is — A. When the stem of a noun
of masculine gender ends in a soft consonant, then the ending
is — 4. (Memorize: YA, IIIA are written with A!)

When the stem of a noun of feminine gender ends in a soft
consonant or in K, ', X, II, IIT, 7K, then the ending is 1. When
it ends in other letters, then the ending is — bI. However, it
doesn’t matter, if you replace —A with —{, and —bI with —
U, it won’t be very noticeable when pronounced-)! The MAIN
THING, that you should memorize: in case of positive answer
to the question in the model “V Bac ectb..?” the ending of a noun
does not change. At the negative answer the noun’s ending



ALWAYS changes. It depends on the gender of a noun. Noun’s
ending varies in six cases in Russian. So, at the positive answer
we use case 1 (the nominative form, the noun’s ending doesn’t
change), at the negative answer we use case 2 (the noun’s ending
changes to the second ending in relation to the gender of noun).

Answer the questions, using the tables. Don’t forget to change
endings of nouns at the negative answers.

V¥ Bac ectb Opar?

¥ Bac ects cecrpa?

V Bac ectp ckaur?

V Bac ectb padora?

VY Bac ectb komika?

¥ Bac ectb cobaka?

V Bac ectp MammHa?

VY Bac ectp Banan (=Whatsapp)?

VY Bac ectb HOYTOYK?

¥ Bac ectb dakc?

V Bac ectp meuTa?

V Bac ectb TeneBuzop?

V Bac ectb nipuHTep?

VY Bac ectb Benocurnen?

V Bac ectsb cnoBapb?

Only pronoun changes at the positive answer: Y mensi... The
ending of a noun does not change.

Correct answers at the negative answer: (HET + 6para, cect-
pBI, CKaiira, padoThl, KOIIKHA, COOAKU, MAIIIMHBI, Ballara, HOyT-



Oyka, (pakca, MeUThI, TEJIEBU30pa, MPUHTEpa, BEJIOCHUIIe A, CJIO-
Baps).

Memorize!

€CTb JICHBI'M — HET JIEHEeT, €CTh TPOOJIEMbI — HET TPOOJIeM, eCTh
BpEMsI — HET BpeMeH!



The Past Tense, the Present
Tense, the Future Tense

CASE TENSE CASE
v Pesest | Fuwe
wp. BELT BYTIE
(Case {m. HAD) (WILL HAVE)
¥+ {Cme
=p. BhLTA BVIET
{f. HAD) ECTh [WILL HAVE )
(HAS, HAVE)
epp. BLAD
{n. HAD) BYAET
[WILL HAVE)
wou.u. BRI
{pl HAD) BT
[WELL HAVE)
CASE TENSE CASE
Past Present Future
Mp.
(Case 2) #p. HEEBLUTO (HAD NO) HET He Gyper
¥+ cp.p. (HAS NO, WILL HAVE NO [Case 2}
s HAVE NO)

Let’s talk about the Tense. Models: ¥ MeHs ecTb... ¥ MeHs
HeT... are in the Present Tense.

When we want to say about that we once had, we use a verb
in the Past Tense. For example: ¥ mMeHs ectb cobaka. (I have
adog.) —the Present Tense. Y mens Obi1a codaka. (I had a dog.) —



the Past Tense. In the Past Tense the endings of verbs change
in relation to noun’s gender and number.

Compare:

V mens ectb maHc. (I have a chance.) ¥ mens ectp padora.
(I have a job.) {4 mens ectb nuanuHo. (I have a piano.) ¥ mens
ectb aeHbru. (I have money.). — the Present Tense.

V mens 6bL1 manc. (I had a chance.) — m.p. (m.). ¥ Mens
ObLIA padoTA. (I had a job.) — x.p. (f.). ¥ Mensa 0b110 nuanu-
HO. (I had a piano).— cp. p. (n.). ¥ mens 0b11M nensrU. (I had
money) — plural. — the Past Tense.

V mens oyaer manc. (I'll have a chance). ¥ mens oyaer
padorta. (I'll have a job). ¥ mensa oymer nuanuno. (I'll have
a piano). Y mens 0yayt aensru (I'll have money). (plural). — the
Future Tense.

All examples are for a positive answer. Don’t forget, that the
verb BbITb change only.

At the negative answer the verb BbITb change only, the
noun’s endings remain unchanged (-A, -4, -bl, -N)

Exercise 4.

Make on the sample:

VY MeHst HeT paboThl. — Y MeHsI He ObLIO padoThl. — Y MeHs
He OyaeT paOoTHI.

V MeHs1 ecTh paboTa. — Y MeHs ObLIa padoTa. — Y MeHs
oyaet pabora.

1. VY Hero ectb TenedoH. —

2. Y MeHs ecTb KBapTUpa. —



3. YV Hee ecTb cecTpa. —

4. Y HUX eCTh COOAKH.-

5. Y mambI ecTh JE€HBIU. —
6. Y Opara ecTb keHa. —

7. Y MeHs HET MalllMHbl., —
8. Y Hero Het JieHer. —
9.V MeHs HeT npodsiemM. —
10. ¥V Hac HeT BpeMeHu. —
11. ¥ mambI HEeT pabOTBI. —
12. Y Bac ectsb cnoBapb?

13. ¥V MeHs ecTb BOBMOKHOCTb (K.p.).
14. 'V Heé Het dakca.

15.V crynenTa HET BU3bIL.



The Possessive Pronouns

When you want to know to whom the subject or human belong
you use the model YEH..? (WHOSE...?)

Depending on the gender and number of a noun you choose
Yeii 310 ...7 Ubst 3710..7 YUb€ 3710...7 or Ybm 370..7 For example,
Unsa sto mammna? (Whose is this car?) (mammna is of feminine
gender so we use Ubs), Yeit ato Tenedon? (Whose is this
phone?) (Tenedon is of masculine gender so we use YEI) Uné
310 najipTo? (neuter gender) Ysu 310 nenpru? (Whose is this
money?) (plural). In the table above you can find the correct
answers to questions that begin with YEI? UYb5? UbE? Yb1?

Y 7 Masculine

Ypn? Feminine

Yeu? Plural

Mo {rry)

Mo

Mo

(vt}

Haw (our)

Hama

Haum

[t}

Tioii {your)

Tnon

Tnon

nea)

Bama

Bauwm

Bam { Your)
Emo (F

Ero

Em

{ona)

Eé

Eé

(o)

Hx

Hx

When an object (or a person) is your property (belongs
to you), choose the answer: 910 Mos1 MalMHa. DTO MO TeJie-
(pon. D10 MOM AeTu. D10 MOE naskTO. Pay attention, that pronoun
changes in relation to the noun’s gender and number. 910 Moi
MalIrHa — incorrect answer. MaiuHa — feminine gender. So, the
correct answer 1S 9TO MOsI MallIMHA.



Exercise 5.

Make on the sample using the table.

The sample: Yen sto cnosaps? (Whose is this dictionary?)
(s1). — D10 Mot cnoBaps. (This is my dictionary).Yeit aTo kiou?
(Whose is this key?) (on) — It1o ero kmou. (This is his key).

1.Yen 370 Kapangam? (OH) —

2.Ybs 310 pyuka? (1) —

3.Yps 310 cymKa? (oHa) —

4.Ypu 310 AeHbIU? (BbI) —

5.Y»4 310 KypTKa? (OH) —

6.Yeii aTo KJo4? (s1) —

7.Ypm 310 netu? (oHU) —

8.Yei1 aTo cnoBaps? (oHA) —

9.Yewu 310 Tenedon? (s1) —

10.Ybu 310 Benwm? (OHU) —

11.Yeii 310 pe6EHOK? (OH) —

12.Yp4 310 ommodka? (g9) —



The Numeral

1 —onuH 2 — nBa 3 — Tpu 4 — yeThipe 5 — nATh 6 — 1mecTb 7 —
ceMb 8 — BoceMb 9 — 1eBATh

10 — mecarp 11 — oguaHaUATH 12 — ABeHaauare 13 — TpuHa-
auarh 14 — yeTblpHa AT

15 — marHaguate 16 — mrectHaaare 17 — cemHaanars 18 —
BOceMHaalaTh 19 — neBATHAAIATH

20 — naguarh 30 — Tpuanare 40 — copok 50 — naTeaecaT 60 —
mecTbaecAar 70 — ceMbaecaT

80 — BocembaecaTr 90 — neBgHocto 100 — cro 200 — agBecTn
300 — Tpucra 400 — yerbipecTa

500 — aTecoT 600 — mectbcot 700 — cembcoT 800 — BoceMb-
cot 900 — nesarbcoT 1000 — ThICSAYA

Memorize!

1 pyOinb, nosutap, aHb, €BpO

2, 3, 4 pybuns, nonnapa, 10aHsl, eBpo

5... pyOnei, A0/IIapOB, I0aHEM, EBPO

Omxa TeIcYA

HBe, 3, 4 ThiCSTUN

5... THICAY

1 MunIMOH

2, 3, 4 MwuIMOHA

5... MWUJIMOHOB

As you see from the examples, the endings of the nouns



in combination with numerals differ. It depends on what numeral
is used: 1 or 2,3,4 or 5 or more. It should be just memorized!



Model CkoJbK0 cTOHUT..?
=How much is..?

Answer the questions:

CkoJpKo cTOUT Balll cjioBaps? Mo c10Baphb CTOMT. . .
Ckospko cTouT Baiia pydka? Mos pydka CTOMT. ..
CKonbKO cTouT Bamia cymka? Mosi cyMKa CTOMT. ...
CkomnbKO cTOMT Bamia Terpaib? Most TeTpaib CTOUT. ..
CkoJbKO CTOAT Bally yachl? MoM 4achl CTOST. ..
CkonbKo ctouT Ouiiet B aBroOyce? buser cTour. ..
CkosbKo cTouT Balll kKapanjaii? Moi KkapaHJaill CTOUT. . .
CKonbKO cTouT KoKa-kona? Koka-komna CTour. ..
CkomnbKo cTouT Bail yueOHUK? Moil y4eOHUK CTOMT. ..
Ckonbko crouT Banl tenedoH? Moii TenedoH CTOUT. ..



Table Nel.

Past Tense Present Tense Future Tense
Aspect (imperfective, | Aspect (imperfective) Aspect (imperfective,
perfective) perfective)
1.Perfective Aspect 1. Imperfective Aspect 1. Perfective Aspect
= one time (now, always, sometimes, | (soon)

= not for long

= action completed

2 Imperfective
Aspect

= many times

= long

= action uncompleted

suffix —JI

M.p. —JI (ca)
#.p. — JIA (cb)
cp.p. — JIO (ck)
mH.u. — JIN (cB)

usually, rarely,  often,

constantly, never)
1 conjugation

1 =Y (-10) (-cv)

Ml -EM (-cs1)

Tbl — ELLIb (-cs)
Bbl — ETE (-cb)
oH, oHa - ET (-cs)

oun - ¥T (-KOT) (ca)
2 cnpsxkeHue

a =¥ (-10) (-cw)
mbl -MM (-ca)

el — ULB (-c5)

Bkl — ITE (-ck)

oH, oHa - MUT (-ca)

o - AT (-AT) (cx1)

1 conjugation

a1 =¥ (-HO) (-cb)
Mel -EM (-ca1)
76l — EIIIb (-cs1)

Bel — ETE (-cB)
OH, oHa - ET (-cs1)
oHH - ¥T (-HOT) (-ca)

2 cripsKeHHe

A =Y (-H) (cw)
Mbl -MM (cs1)
Thl — U (-cs)
Bbl — UTE (-cb)

OoH, oHa - UT (-ca)

oHH - AT (-AT) (-ca)

2. Imperfective Aspect

f1 Gyny, ™Mbl Oyzgem, Thl
Oypelus, Bel Oygere, oH
(oHa) Gypet, oru GyayT

+ infinitive




The Formation of the
Past Tense of Verbs

The formation of the Past Tense in the Russian language is
rather simple. (There are only 3 Tenses: the Past, the Present and
the Future).

To form the Past Tense of a verb correctly, you just have
to remove -Tb and add —JI, -JIA, -JIO, -JIU, depending on
a gender. For example, let’s take the verb “kynuts”.

To form the Past Tense of the verb, we remove —Tb and
add JI. On kymui. (He bought.) Ona kynuia. (She bought.) Ouu
kynwid. (They bought.)

Ckazarb — OH cKa3aJl, OHa cKa3asa, oHu ckazauu. (To tell — he
told, she told, they told).

When a word ends in —C{, -Tb is removed, but —C$
remains. For example, yuuTbcsi — OH y4UJICsl, OHA YUWJIACh, OHU
yunamck. You can see all variants in Table 1!

Exercise 6.

Make on the sample, using Table 1. Find the meanings of the
words in the dictionary.

Sample: [Tucath — OH nucan, oHa Ucasia, OHU Nucaiu. Bep-
HyTbcsl — OH BEepHYJICs, OHA BepHYJIaCh, OHU BEPHYJIKCh.

Hatb —

Yuutp —



Yuurbcsa —

Kutp —

XonouTp —

Ezmute —

3BOHUTH —

Bugetr —

XoTeTh —

Paborarp —

Kynurs —

3aBTpakarb —

Oo6enarp —

VYxuHatb —

['ynsare —

At the positive answer in the Past Tense you say: A ryms. 4
y:kuHal. 4 3BoHu. At the negative answer in the Past Tense you
just add HE. 4 ne rynsn. (I didn’t walk). 4 He yxxunan. (I didn’t
have dinner.) {1 e 3Bonmn. (I didn’t call.)

Exercise 7.

Give a negative answer. For example: Bol padortaym cerogss?
(Did you work today?) — {1 ne padoran. (I didn’t work.)

1.Bbl 3aBTpakaiu cerogHs?

2.BbI paboTanmu cerogHsi?

3.Bui rynsiu ceronHs?

4.Bbl y4uuch ceroHsi?

5.Bbl M cerogHsi yTpoM Cok ?



Don’t forget that if you are a woman, you should add —JIA:
51 ne padorallA.

When several persons are mentioned, you should add —JIU:
Ms1 He padotaJll.

As you already know, the Past Tense of verbs in Russian is
formed from the verb’s stem by means of the suffix —JI. Some
verbs form the Past Tense another way. You should learn these
verbs.

For example, the foreigners often say: On ymepen. (from
“ymepets”) or OH ommbwmics. (from«ommubutses™). It occurs
that automatically —Tb is removed and — JI is added. Of course,
Russians most likely will understand you, when you say so. But
you wish to speak beautifully, don’t you? -)

And how to form the Past Tense of the verbs “ymepers” and
“ommbuThCs”, you can find in table 2.

In the table below verbs are grouped by a principle of analogy.
First learn the formation of the Past Tense of verbs in column
A. Of course, there are more such verbs than you can see in the
table. But these ones are enough for the first time. Find the
meanings of these verbs in the dictionary or in the end of tutorial.



Table Ne 2,

A

The verbs forming the Past Tense similarly to the

verbs in column A

Waru (imperfective)
1Ién

Ha-iiTu (perfective)
Bui-iit (perfective)

TMogo-iiTh (perfective)
Ipu-iitu (perfective)

llna Bui-iitn JaAMYH (no | Pazo-iiTu-ck (perfective)

L mascul.gen.!) Y-iitu (perfective)
3a-iitu (perfective) Mepe-iitu (perfective)
MMo-ittk (perfective)

E-crb (imperfective) Hapoe-crb (perfective) Ce-ctb (perfective)

En Mona-cte  (perfective) B | Yna-cte (perfective)

Ena aABaAPHIO

Emn IMona-ctsb (perfective)

IMpona-cts (perfective)

Mo-us (imperfective)
Mor

Cwmo-us (perfective)
Jle-uw cniark (perfective) - nér

Bepe-ub  (imperfective) -
Gepér

Morna cnarb
Mormu IMogcTpu-up-ca (perfective)

IMomo-ub (perfective)
Pactu (imp.) Bui-pactu (perfective)
poc
pocia
pociu
3amép3-HyTh OteLIK-HYT (perfective) Cnac-tu (perfective)
(perfective) [Moru6-uyTs (perfective) IMpomok-nyTs (perfective)
3amép3 IMpuebIk-HyTH (perfective) Ymep-ets (perfective)
3amépana [Morac-uyTh (perfective) Ownb-urb-ca (perfective)
3amépanu OThec- (perfective) Otees-TH (perfective)

IMpunec-tu (perfective)
YHec-TH (perfective)
Mepenec-H (perfective)
[Mpuses-tu (perfective)

Joees-Tu (perfective)
Iepeses-tu (perfective)
VYees-TH (perfective)

Hc-ne-uk (perfective)
Henék

Henekna

Henewnu

MMe-uk (imperfective)

O6Keub-cs
(perfective)
ObGxkércs
Obomrnacs
ODOKINMUCH

Ofxeus (perfective)

Be-ctu (perfective)
Bén

Bena

Benu

Iepe-pe-ctu (perfective)
Ipo-se-ctu (perfective)
Pas-pe-ctu-cb (perfective)




Exercise 8.

Form The Past Tense of the verbs using table 2.

Sample: oTBe3TH — OTBE3, OTBE3JIA, OTBE3IH.

1.ITpoBectn

2.Ileun

3.Moub

4. 3aMEP3HYTh

5.I1oruGHyTH

6.Pactn

7.Hanmoectb

8.Pazoiituch

9.Ectp

10.Yiuru

11.01Be3TH

12.ITonactk B aBapuio

13.ITomoub

14.Ilogcrpuuncsa

15.Vnactp

16.BeoritTi 3amMmyk

17.ITorubHyTH

18.PasBectuce

19.I1epeBectn

20.I1puBbIKHY T

THE PRINCIPAL DIFFERENCE OF THE FORM OF THE
PAST TENSE IN RUSSIAN IS THAT THE FORM IS NOT



DETERMINED BY THE MOMENT OF SPEECH AND THE
RESULT OF ACTION. If any action is done even a fraction
of a second ago, it is already the Past Tense

There are 2 verbal aspects in Russian: perfective and
imperfective. (Further we will denote them abbreviated as
(perf.), (imperf)).What is the difference? When an action is
taking place once, use the verb of perfective aspect. When an
action is taking place several times (repeated), use imperfective
aspect. Le., if you walked to the shop yesterday and bought
(once!) a pack of juice, it would properly to say: “f Buepa Kynua
B MarasuHe cok u curapetsl. But if you, for example, something
bought constantly before, you should say: “{ panbliie (4acto) mo-
kynaJg msico”. (“I (often) bought meat before”. ) In this case, an
action is taking place several times (repeated), so we use the verb
of imperfective aspect.

Or another example. Feel the difference: 9 Buepa mpouuTasu
(c.B.) KHUTYy. — ¢ yuTaa Buepa (H.B.) KHuUry. (Yesterday I had
read (perf.) a book. — Yesterday I read (imperf.) a book.) When
“npountan’, it means till the end. When “auran”, it means that
reading is not yet finished. In the first example, the action is
completed, in the second one the action has not yet completed.

One more example. Compare: 4 pgorosapusaJics.
(I arranged.) (moroBapuBaTtbcs — H.B.) (to arrange — imperf.)
and 51 noroBopmics. (I have arranged.) (oroBopuThCs — C.B.)
(to have arranged — perf.). In the first sentence the action has not
yet completed as there is no result. In the second sentence the



action is completed as there is the result.

The verb “naBatp — natp” (to give — to have given). Compare:
OHn paa mue nenwru. (He gave me money.) OH nqaBaJji MHe I€Hb-
ru. (He gave me money.) The action is done in the past for both
verbs (no matter when). But the difference is that using the verb
“man” the Russians understand that the money was received once.
And in the case of using the imperfect aspect “maBan”, money
was received several times.

Haputh — ogapuTh. (to present with — to have presented with)
Read the following sentence and define of what aspect the verb
“nomaputsp” 1s and why? Mos noapyra BYepa mojapuja MHe
yachl. (Yesterday my girlfriend presented me with a watch. Let’s
speculate! We are talking about yesterday’s event. The girlfriend
presented me with a watch once. Therefore, the use of the
imperfective verb is inappropriate. We can draw a conclusion
that the verb “nogapuna” is a verb of perfective aspect. And if
we take another example: B gerctBe mama Bcerja JapuJi MHe
1BeTHl Ha JeHb poxiaeHus. (When I was small, my dad always
presented me with flowers for my birthday.) We are talking about
a repeating event that occur over a period of time. Therefore, the
verb of imperfective aspect should be used.

Of course, at the beginning it will be difficult to grasp, what
the aspect of a verb to choose to form the Past Tense. But, as you
study the language, you will catch in correct using. Just in case,
I repeat. In the Past Tense the verbs of perfect aspect are used:

1. Action is taking place 1 time.



2. Action is completed, there is a result.

The verbs of imperfect aspect are used:

1. Action is taking place several times (repeated).

2. Action is not completed, there is no result.

The most important in the formation of the Past Tense is
suffix — JI! And, of course, learn the verbs from table 2.



The Present Tense

The Correlation between Tense and Verbal Aspect

As you already understood, at formation of the Past Tense
in Russian 2 verbal aspects and suffix-JI are used. What is the
correlation between an aspect of a verb and the formation of the
Present and the Future Tenses? We’ll talk about this later, but
now let’s talk on another point for the beginning. All verbs
in Russian in the Present Tense and the Future Tense change their
endings depending on pronouns. For example, the verb “3narp”.
Depending on a pronoun the verb will change: 4 31a10. Mbl 3Ha-
eM. Tol 3Haemnb. Bel 3HaeTe. OH, oHa 3HaeT. OHM 3HaOT. Another
example. Padorars — (H.B.). 51 paborato. MbI pabotaem. Tsl pa-
6otaemib. Bol padotaete. OH, oHa padoTtaeT. OHU padOTAIOT.

And all these changing forms need to learn! (Do you still want
to learn Russian? -)). It’'s wrong to say: $1 pabotats. Or: 51 pado-
TaeM. When “s”, so, it’s correct to say: 51 padoralO.

The verb “3narp” 1s of imperfective aspect. This means that
the phrase “{ 3nat0” refers to the Present Tense. Why? The fact
is that the Present Tense of verbs in Russian is formed from the
verbs of imperfective aspect only! Thus, when you want to say
about what you’re doing now or about repeated action, you use
the verbs of imperfective aspect. To the question “Yto TbI ceituac
nenaeins?”, you can answer, for example, §1 yuTato. (uutath —
H.B.). { crumo. (cmath — H.B.). §I padorato. (paboTarh — H.B.).



One more example. Sl nokynawo nNpogyKTsl. (IIOKyNarh — H.B.).
Compare, for example, with the phrase “f kymmo (Kynutb — c.B.)
nponykTsl”. The verbs kynute-nokynars have one and the same
meaning and differ in aspects only. While in the first sentence,
we are talking about an event that occurs at the present moment
(for example, you are in a store and talk on the phone) or about
repeated event. The verb “nokynars” is of imperfective aspect,
it refers to the present tense. The verb “kynuts” is of perfective
aspect, therefore, all forms formed from it, refer to the future
tense. For example, when Russian says: “/ kyruno mammny”, the
Future Tense is meant. (You’ll read more about the Future Tense
in the next chapter). An example of repeated action, when the
verbs of imperfective aspects are used and which refer to the
Present Tense, are the following sentences: “f e3xy (e3quTh —
H.B.) Ha padoty Ha aBToOyce”. (“I go (to go — imperf.) to work
by bus”. ) “Jlerom yacto uayt (uartu — H.B.) noxau” . (“It rains
(to rain — imperf.) often in summer”), « Sl yacTo 3BOHIO (3BO-
HUTH — H.B.) gomon”. (” I often call (to call — imperf.) home”. )
In table 1 you can see all endings of verbs. Pay your attention,
that endings of verbs are different. For example, On yuutcs
(1.B.) — the ending is — UT. On padoraer (H.B.) — the ending is —
ET. The choice between —ur or —et depends on conjugation
(the Tst conjugation predetermines the verb’s ending —ET, the
2nd conjugation predetermines -UT). Your brain might blow up
from the amount of information that you need to remember.
Therefore, in order to make this task easier, at the initial stage the



verbs will be given in finished form. The main thing is to change
the ending of a verb in relation to pronoun or noun.



The Future Tense

The Future Tense is formed from the verbs of perfective
aspect, for example “3BOHUTH — 03BOHUTL” (to call — shall/will
have called). 3Bonuts is the verb of imperfective aspect, so we
can form The Present Tense from it only. “Ilo3BoHuTs” is the

verb of perfective aspect of the nd conjugation, so from this
verb we can form only the Future Tense. 4 mo3BoH10. MblI no-
3BOHMM. Tbl MO3BOHMUIIIb. Bbl mo3Bonute. OH, OHa MO3BOHMT.
Onu no3BoHsT. I.e. when Russian says “4 3BoHI0 1oOMO# YacTo”,
the Present Tense is meant. But the phrase “OH no3BoHUT MHe”
means that someone will phone me in future. The endings of the
verbs of perfective aspect such as of the verbs of imperfective

aspect depend on their conjugation (1** or 2™%).). §I caenaro. Ml
cnenaeM. Thl cnenaenb. Bol caenaere. OH, oHa caenaer. OHu
crnenaiotr. See table 1.

So, you should know the aspect of a verb which you use
to construct a sentence correctly. When you talk about a future
event, you should use a verb of perfective aspect. When you talk
about an event which is repeated or is taking place right now, you
should use a verb of imperfective aspect.

Conclusions

At forming The Past Tense the verbs of perfective or
imperfective aspect are used. At forming The Present Tense the



verbs of imperfective aspect are used. At forming The Future
Tense the verbs of perfective aspect are used.

The endings in Russian in the Present Tense and the Future
Tense vary in relation to pronouns (si, Mbl, Tbl, Bbl, OH, OHa, OHH)
or nouns.

The choose of ending —EM or (-UM), -EIIb (-U1b), -ETE
(-UTE), — ET (-UT), — YOT (-AT) depends on the conjugations
(1% or 279).

Sometimes the Future Tense is formed with the help of the
verb BbITb + Infinitive (imperfective aspect). For example: {1
Oyay padotatb. MbI Oyziem padotarb. T Oyaenis padotath? Bel
Oynere paborars? On Oyaer padorare Tam? Onu OymyT pado-
tarb? This variant is used when an event refers to the future or it
is long in time (repeated). I Oyny 3BonuTh yacto. (I'll call often).
S 6ymy moouts Teds Beio xu3Hb. (I'll love you all my life). 5 6y-
ay yuutbces. (Il study). The forming of the Future Tense in such
way 1s rather rare, than the forming of the Future Tense from the
verbs of perfective aspect.

At the end of the textbook you will find the table of all verbs
used here, in which verbal aspect is indicated on purpose you
to know what Tense can be formed from one or another verb.

Exercise 9.

A) Find the meanings of the words in the dictionary. Define
the Tense of the verbs. Learn them!

JKMTH (H.B.) | crip. 51 KUBY, Mbl ;KUBEM, Thbl JKUBEIIb, Bbl KU-



BETE, OH, OHA KUBET, OHU KUBYT.

YYHUTHCA (H.B.) 2 CIIp. 51 y4yCb, Mbl YUUMCH, Thl yUUIIIbCS, BB
YUUTECh, OH, OHA YUUTCSI, OHU yUaTCs.

padorarthb (H.B.) 1 ciip. s pabotaio, Mbl padoTaem, Tl pado-
Taellb, BBl paboTaeTe, OH, OHa paboTaeT, OHM padboTaIoT.

rOBOPHUTH (H.B.) 2 CHp. 51 TOBOPIO, MBIl TOBOPUM, Thl TOBO-
pMIIIb, BBl TOBOPUTE, OH, OHA TOBOPUT, OHU TOBOPSIT.

Y’KHUHATHh (H.B.) | cop. g yKuHAI0, Mbl Y)KMHAEM, Thl Y)KWUHA-
€lllb, Bbl Y)KMHAETE, OH, OHA Y)KUHAET, OHU yKUHAIOT.

3aBTpPaKaTh (H.B.) | crp. g 3aBTpaKaio, Mbl 3aBTPAKaeM, Thl
3aBTpaKaelllb, Bbl 3aBTPAKAETe, OH, OHA 3aBTPAKAET, OHU 3aBTPa-
KaIoT.

o0enaTh (H.B.) 1 crip. st 06e/1ato, Mbl 0Oe1aeM, Thl 0OeIaelllb,
BBl 0OefiaeTe, OH, OHa 00eaeT, OHU 00eJAIoT.

NOKynarth (H.B.) 1 cIip. s OKymnaio, Mbl TOKYIIA€M, ThI IOKY-
Taelllb, Bbl IOKYIAETEe, OH, OHA MOKYTAET, OHU MOKYIIAOT.

JaBarb (H.B.) 1 croip. g1 mao, Mbl JaéM, Thl JA€IlIb, Bbl JAETE,
OH, OHA J1a€T, OHU AAIOT.

Jath (C.B.) S AaM, MbI IaJJUM, ThI Jalllb, BBl JaUTe, OH, OHA
JacT, OHU JaayT.

OTABIXaTh (H.B.) | CIIp. 1 OTABIXAI0, MBI OTJBIXAEM, ThI OT/IbI-
Xaelllb, Bbl OTAbIXaeTe, OH, OHA OTJBIXAET, OHU OTIbIXAIOT.

b) Form the Present Tense and the Future Tense on the
sample.

Sample: 4 ... (padorars). — 51 padoraio.

1. OH ... (KUTB).
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Hetn ... (paboTarth).

2
3. —Bul ... (3aBTpakaTh)?
4. —Bbl ... (yuntbes)?

5.
6
7
8

Pe6GEHOK yxe ... (roBOpuTH)?

. A ... (yxuHathb).
. Pogurtenu ... (oOenats).
.4 ... (mokynars).

OH ... (matp).

10. OH... (1aBaThb).
11. = Ter ... (otapixats)? — Her, st ceromns ... (paboTarh).
B) In what sentence a verb of the Future Tense is used? Why?



Table 3.

Case, Prepositions, Endings
| questi words
Of nouns Of adjectives
M.p. Kakoii? —0f,- wii, - biii
Kro? 310, €CTh Hop -a, - Kakas? — an, -aa
Yro? C.p. -0,-¢ Kakoe? - oe, -ee
1 MH.M. —H, -bl Kakue? — ve, -bie
W3, y, Ges, c, o,
Orrypa? AR, H3-33, MO, | M.p. -a,-A Kakoro? -ero, -oro
VY koro? MPO, HEY, HKp. -bL-H Kakoii? - eii, - oil
Yern? OMOIT, DO, Mu.u. Kakux?  =Mx, -BIX
2 HECKO/IbKD
Komy? Mp. -y -0 Kakomy? — omy, -emy
K komy? K (kn), no Kp. -e Kakoii? - ofi, -efi
Yemy? MH.u. —am, - M Kakum? — M, -bIM
3
Kypa? M.p. Kakoii? —uii,-biii,-oii
Yro? B, Kp.-v-w0 Kakyio? — yio, - 010
Korga? Ha, 3a, npo, Cpp.-o,-8& Kakoe? - oe, -ee
HEPe3 MH.M. - ,-Bl, -A,-a Kakwe?  -wle, - ne
Koro? M.p. —a,-a Kakoro? — oro, -ero
4 HKp.—y -0 Kakywo? —yio, -1
MH.u. Kakux? — bIX,-HX
C kem? C (co), 3a, Hag, M.p. —om, -em Kakum?  — UM, -bIM
Yem? nop, nepea, HKp. - oii, -eii Kakoii?  — eid, -oii
Kem? MERCAY MH.4. — aMH, -AMH KakuMH? — HMH, -bIMH
5
Cae? B, Ha, M.p. -e Kakom? -eM, -oM
O uém? 0, 1px Kp -8 Kakoii? - oi, - eil
Korga? MH.u, —ax, -ax Kakux? - ux, -bix
6

In table 3 you can find all endings of all nouns and adjectives

in relation to their gender, number and case




Model — I'me..? =Where...? (case 6)

Exercise 10.
Find the meanings of the words in the dictionary, leam them, make on the sample.
Sample: Maramo — o marasinE, pabota — wa pabatE, Kopes — o Kopee { Don't forget in nouns of feminine gender to remove the ending —A,
-l and then add the ending —E.
B
pecTopan FOCTHHLD HHCTHTYT
Hirrephet ToHwHE Wt
MATAIHH Kopes sy rei
TVaneT AnepHxa Kuai
TeatTp GoneHHLE KOpHADR
VHHBEPCHTET odmc napk
rapa Empona mosodi KAyl - m nounom knye
Tawnana uenp
wape
HA
LLEF paboTa
Jana - PHINOK — Ha) Phifke
BOKIaA KBIpTHPa
nouTa yHLE
YpoK CTORHKS
BOCTOK cesep
Aada - Hor -

Remember! (exceptions to the rule)

Poccust — B Poccnu, roctu — B roctsix, Oeper — Ha Oepery,
a’3pOoIIOPT — B a3POIIOPTY, AoMa, AnoHus — B AnoHuu, HEpKOBb —
B LIEPKBH, OOILLEKUTHE — B OOLIEKUTHUU, KOMIIAHUS — B KOMIIa-
HUU, CTOJIOBAsA — B CTOJIOBOU.

When Russian asks you a question using the model “I'ze..?”,



and you answer using a noun, you should change a ending
of a noun to — E (it’s case 6) and use the prepositions B or HA.
What preposition should be chosen? To make memorizing easier
nouns are grouped into 2 groups, depending on the preposition
that they are used with.

Just learn-).

For example:

— I'me BB padotaere? (Where do you work?) — §I paboraio
B yHuBepcuteTE. (yHuBepcurer — an university). (I work at the
university.)

—I'ne ona pabotaer? (Where does she work?) — Ona padoraer
Ha BOK3aJie. (Bok3aJj — a station). (She works at the station.)

Exercise 11.

A) Insert B or HA:

...0epery, ...3amajue,... MOCKBe, ...KOpHUIOpE, ... OOJBHUIIE,
...TOCTHHHUIIE, ... Poccum, ...padorte, ...1o4uTe, ...phIHKE, ...KH-
HO, ...MYy3ee, ...a9pOMopTy, ... UHCTUTYTE, ... I0re, ... IIKOJe,
... MarasuHe, ... TOCTSIX, ... BOK3aJie, ... Tyajere, ... AnoHuy, ...
Awmepuke, ...IIEPKBH, ... JIOMA, ... PeCTOpaHe, ... OOIIeKUTHH,
... utepuere, ... KoMmnanuy, ..... EBpore....kade

Memorize: roBopuTthb (to speak) + mo-pyccku (Russian),
no-anrymiicku  (English), mo-mcnancku (Spanish), mo-
¢gpanny3cku (French), mo-kuraiicku (Chinese), no-smnon-
cku (Japanese), no-unemenku (German)

B) Answer the questions, using in reply the pronoun “f” and



the words in brackets. Note the tense in which verbs are used.
(The forming of the Present Tense see in exercise 9. Don’t forget
to add —JI or — JIA, when using the Past Tense).

1.I'ne BB %kuBETE (MOCKBa)?

2.I'ne Bbl kun (Amepuka)?

3.I'ne BbI yunrech ceiyac? (YHUBEPCUTET)

4.I'me BBl yYWJIMCh paHblIe? (IIKOJa)

5.I'ne BbI pabotaete? (kommnanus “I"a3rpom”)

6.I'ne BbI roBOpUTE MO-PYCCKU? (MHCTUTYT)

7.I'ne BbI rOBOpPUTE MO-AHIJIMMCKH? (JOMA)

8.I'ne BBl MOKynaeTe MpoayKThl? (Mara3vH)

9.I'e BHI 3aBTpakau ceroans? (kade)

10.I'me BbI 0Oeamm BYepa? (pectopaH)

11.I'me BBl ykuHaM BUepa? (1oma)

12.I'ne BB 0OBIYHO 3aBTpakaete? (CToI0BasT)

13.I'ne B 0ObIUHO OOemaete? (kade)

14.I'ne BbI 0OBIYHO ykMHAeTe? (oMa)

15.I'ne Bo otapixaere? (Tannmany)

B) In what sentences the verbs of the Present Tense is used?

I') In what sentences the verbs of the Past Tense is used?

Exercise 12.

A) Give a negative answer. Sample: Bbl roBopute no-pyccku?
(Do you speak Russian?) fI He roBopio no-pyccku. (I don’t speak
Russian.) Bel kypunu ceronus? (Have you smoked today?) A
He Kypu ceroas. (I haven’t smoked today.)

1.'ne BBI 0Oenamm ceroqHs?



2.I'ne Bbl yxuHaM Buepa’?

3.BbI roBOpUTE NO-KUTAUCKA?

4.Bbl roBOpUTE MO-ATIOHCKU ?

5.I'e BbI 3aBTpaKaiu ceronHsi?

6.Bb1 roBopuTe Mo-rcnancku?

7.Bb1 yautech wim padoraere ceivac?

8.BbI roBopuTe Mo-Hemenku?

9.BbI roBOpUTE NMO-AHITIMICKU?

10.Bb1 yunnuch cerogss?

11.BeI roBOopHuTE MO-pYyCcCKU?

b) In what sentences the verbs of the Past Tense is used?

In Russian language verbs determine an ending of a noun. You
can easily choose a noun’s case, when you are asked a question
such as “I'me..?” you should choose the ending — E (case 6)
without hesitation. But you will not always be answering only.
You will speak-)!



HKuTth (H.B.) To live
PaboTtath (Hec.B.) To work
YuMThkcH (Hec.B.) To study
BLITh To be

['0BOPHTE (HEC.B.) MO-PYyCCKH

To speak Russian

Kyrnuthb (coB.B.) (SMoKynars)

To have bought (perf.) (= to buy)

Buyerts (Hec.B.)

To see (imperf.)

Orppixars (Hec.B.)

To have a rest (imperf.)

YiuHaTh (HeC.B.)

To have supper (imperf.)

Ob6eaars (Hec.B.)

To have dinner (imperf.)

3aBTpakarhb (Hec.B.)

To have breakfast (imperf.)

Berperuthes (coe.s.)

To have met (perf.)

[Mo3HaKOMHTbCH (COB.B.)

To have got acquainted (perf.)

HaxoauThes (Hec.Bua)

To be (imperf.)

Poaurbes (coB.B.)

To be born (perf.)

Remember, after what verbs should be used a noun
in case 6.

So you want to construct a phrase with one of these verbs.
How will it look like? First you define what Tense does an
event refer to (Past, Present, Future). For example, you want
to say where you had breakfast this morning. The action took
place in the past, then you use the verb “3aBTpakars” in the
Past Tense. If you are a man, add the suffix — JI: fI 3aBTpakau.
If you are a woman, add —JIA: 4 3aBTpakana. Then change
noun’s ending according to case 6 and use the preposition B or
HA. For example, let’s take the noun “rocrununa”. Change the
ending, add preposition B and it turns out BITOCTUHHALE. So,
we’ve constructed the phrase “l 3aBTpakan ceronHs B rOCTUHU-



ue”. Another example. If you are having breakfast, and someone
phones you at this time and asks what you are doing now, you
should answer: “{ 3aBTpakaio B roctunuiie”. In this sentence The
Present Tense is used.

Let’s take the verb “ormpixats” for example. After this verb
should be used a noun in case 6, noun’s ending changes to —E.
A + orapixan (the Past Tense) + a noun in case 6. The phrase 4
otneixan EBpona is not correct.

If you have a rest in Europe every year, you should say “Kax-
nbii rof st otapixaio B EBporie”. (“I have a rest in Europe every
year”. )

Or: 4 + yuuncs + B AMepuke, a ceituac yuych (the Present
Tense) + B Mockse.

Or: 51 oOpraHO 3aBTpakai + B Kade, 00eiaio + B pecTopaHe,
a yxuHato + 1oma. (All verbs are used in the Present Tense). The
word “moma” doesn’t change as it is an exception.

Sure, you can use these verbs without nouns, for example: Ce-
rofHs 51 otasixaw. A cefiuac odenaro. S He padoTtan Buepa.



The Use of the Verb bbITbH

One of my students from Japan said that the Japanese never
asked the question “Twt rne?” This question seems to them
indecent, almost the interference in private life. It does not apply
to the Russians. The Russians, when talking on the phone, after
greeting ask a question “TbI rie?” probably in a half of cases.
That’s why we study this model one of the first. The advantage is
that it is easy to remember noun’s endings. The nouns of feminine
an masculine genders change their endings to —E.

Table 4.

The Past Tense

The Present

Tense

The Future Tense

masc.  Ben
fem. Gbina
neut.  Guino

pl.. G

A

Mul

Thst

B

Om, oHa

O

Joma

Tam, 38Ck

B ODUREKHTHH
B HHCTHTYTE
B MOCTAX

B Mockee

A Gyay

Mes Gyaem
T Gyaewun
Bl Gyere
On Gyaer

Crn By

The question “Bbl rae?” (“Where are you?”) refers to the
action taking place in the present. When answering this question,
the verb “ObITh” is missing. For example: — Twi rae? — 51 Ha pa-
6ote. In the Past Tense the suffix —JI is added to the verb. {
ObLI Ha padote. (masc.gen.). S O6bLIa Ha padote. (fem.gen.).
Me1 661t Ha padote. (pl.). In the Future Tense the verb changes



in relation to a pronoun. For example: { Oyny Ha padote. Toi
Oyzmenib Ha padore. OHa Oyner B yHuBepcutere? You can see
all variants in table 4. When in a question the verb “ObITh” is
in the Past Tense, you should use the Past Tense in a reply.
When in a question the verb “0ObIT” is in the Future Tense, you
should use the Future Tense in a reply. For example: — I'ne 1o
ob11? (Where were you?) — 4 6bi1 toma. (I was at home.) Or: —
I'ne T Oynes 3aBTpa yTpom? (Where will you be tomorrow
morning?) — 51 6yny 3aBtrpa yrpom B yrusepcuterte. (I'll be at the
university tomorrow morning.) After the verb “6piTs” should be
used a noun in case 6.

Exercise 13.

Give a negative answer to the questions.

Sample: Bu 66111 B Mocke? (Have you been in Moscow?) —
Her, g ne 6bu1 B Mockse. (No, I've never been in Moscow.)

Boi B Mockse ceituac? (Are you in Moscow now?) — Her,
He B Mockse ceituac. (No, I am not in Moscow now.)

1.Bb1 B Ynkaro?

2.0mHa B [letepOypre?

3.0u 0bu1 B Kanane?

4.Bw1 Obii B [lexnne?

5.0Ha poma?

6.Bb1 ObuTH B TOKHO?

7.Bb1 66111 B MOckBe?

8.Bb1 Oyziete B yHuBepcutete 3aBTpa B 12 yaco?

9.Tw 30ech?



Exercise 14.

Answer the questions:

1.I'ne BHI certyac?

2.I'ne BbI Oynere cerogns yepes3 3 vaca?

3.I'ne BB ObUTH BUepa Beuepom?

4.I'ne BbI OblM BUEpa yTpoM?

5.I'ne BbI Oynere 3aBTpa yTpom?

6.I'ne BbI Oynere cerogHs Beuepom?

7.Bbl Obu B MOCKBE?

8.Bn1 Obu B CaskT-IletepOypre?

9.I'ne BbI ObLIM B BOCKpeECeHbe?

10.Bb1 ObUTH BUepa B pecTopaHe?

11.I'me BbI Oynete uepes ron?

12.I'ne BB Oynere yepe3 10 net?

A) In what sentences the verb “ObiTh” is used in the Future
Tense?

b) In what sentences the verb “ObiTh” is used in the Past Tense?

B) In what sentences the verb “ObiTh” is used in the Present
Tense?



Model - Ha kakom 3Taxe..?
=0On what floor..? (case 6)

When answering the question: “Ha kakom 3taxe..?”, your
answer implies the use of a preposition HA and the ending —
OM at numeral. The ending of the noun “stax” is changed to —
E. When you want to know on what floor someone or something
exactly is situated, you should ask: I3BuHHMTE, HEe MOCKAXKe-
Te, HA KAKOM 3Ta’Ke HaX0AuTcs (HaXoAuThCSI —H.B.) + ...
(case 1)? For example: I3BuHUTE, HE MOJCKaXeTe, Ha KAKOM 3Ta-
ke Haxonutcs Tyanet? (Excuse me, could you tell me on what
floor is the toilet?) (anTeka, kacca, Mara3uH, KUHOTeaTp, PeCTo-
paH)?

Or, for example, you want to meet somebody and phone this
person: — Thl Ha KakoM 3Taxke ceiyac? — I Ha BTOpOM 3Taxe.

Here is an example of a very common question: — Ha kakom
9Taxe Thl KUBEIIL (padoTtaeb, yuuiibes)? (On what floor do
you live (do you work, do you study)?) — 51 :)xuBy Ha IsITOM TaxXe.
See on the table p. 56.



1 - Ha neppOM

2 - Ha BTOpOM

3 - Ha TpeTbEM

4 - Ha ueTBEpTOM
5 - Ha maTOM

G - Ha wecTOM

7 - Ha cegbMOM

8§ - Ha BocbMOM
9 - Ha geBaTOM ITAJKE
10 - na gecatOM

11 - Ha oguHHagUarOM

12 - Ha peenanuarOM

13 - Ha TpuHaauarOM

Ha 14,15,16,17,18,19,20 +

- OM

21 - Ha jgBajguare+ nepsOM

31 - Ha TpUALATH +

41 - Ha copok +

51 - Ha nATbAeCAT +

Answer the questions:

Ha xakom staxe Bbl yunrtech? S ydycs Ha...

Ha xakom staxe Bbl )xuBeTe? 51 KUBY Ha. ..

Ha xakom staske BbI padotaere? 51 pabotaio Ha. ..

Ha xakoMm 3taxe Bbl y4uuch B mkose? S yuwmicd Ha. ..
Often the model “Ha... 3Taxe” is used with the following



verbs:

S 6ymy xnmatp Bac = (I will wait you) Ha... 3Taxe.

Hagaiite BcTpetumcs (Lets meet!) (BCTpeTUThCS — C.B.) Ha...
sTaxe!

Hasaiite BoinibeM (Lets drink) (BbITUTH — €.B.) Kode Ha. .. ITa-
xe!

— Tol rne? — 4 Ha BTOpOM 3TaxKe!

— BbI Ha kKakoM 3Taxe certyac? — Mbl Ha rocyiegHeM (Tiocie-
Hun= last) sTaxe.

Exercise 15.

Write the numerals given in brackets. Sample: {1 xny Bac ...
(4). — Ha YETBEPTOM ITAKXE.

1.4 xuBy... (1)

2Axny ... (2)

3.4 yuycs ... (3)

4.0H XUBET ... (5)

S5.Tyaner ... (7)

6.Kunoreatp ... (8)

7.JaBanTe BcrpeTumcs ... (9)

8.0H padortaer ... (10)

9.Msb1 xumm ... (11)

10.0na 6pina ... (3)

11.0nwm padoraor ... (21)



Model - Kakoe ceroans uucJuao?
=What is the date today?

When you suddenly forget-)), what date is today (or yesterday
and tomorrow) or your Russian friend forgets it, questions will be
following — Kakoe cerogus uucino? (What is the date today?) —
Kakoe uwnciio 6su10 Buepa? (What was the date yesterday?) — Ka-
koe umcio Oyner 3aBrpa? (What will be the date tomorrow?)

The numeral’s ending is — OE, when you use the words “Bye-
pa”, “cerogHs”, “3aBTpa’.

For example: Cerogus nsaroe masi. — The Present Tense is
used.

Buepa Obu10 yeTBEpTOe Mast. — the verb “Obi10” determines
the Past Tense.

3aBTpa Oyner miectoe Masi. — the verb “Oyner” is used in the
Future Tense only. See on the table p. 59.



1 — nepBoe 16 — mecTHazaTOE

2 — BTOpOE 17 — ceMHaguaToe

3 — TpeTbe 18 — BocemHa/ijaToe

4 — yeTBépTOE 19 - peBaTHagLaTOE

5 — nsitoe 20 — pBajauaToe

6 — 11ecToe 21 - gBaauaTh + Mepeoe, ...
7 — cegpMoe 30 — TpuaLaroe

8 — BocbMoOE 31 — TpuALIaTh NepBoe

9 — nessiToe

10 — pecsToe

11 - oguHHaAATOE
12 — ABeHajaTOR
13 — TpuHaALaTO®

14 — veTbIpHaaLIaTOR

15 — naTHaguaToe

When in a sentence other verbs are used or you answer the
question “Kakoro yncaa..?” or “Korga..?”, numeral’s ending
is changing. For example, in the sentence: On npuexan 5.02.,
you should say: “On npuexan BropOI'O deBpansa”. “On npuexan



BTOpOE (peBpatisl.”. — Incorrect answer! See on the table p. 60.
To the question: — Kakoro uucna Bel npuenere? the answer
should be: “A npueny matOI'O mapra”. { npueny naroe mapra. —
Incorrect answer!
Compare: Ceroass BTopoe uiojis. — S mprey BTOporo Mos.
Or: 3aBtpa Oyner nepBoe stHBapsi. — OH yexas JJOMOU TIepBOro
SIHBapsl

AHBapsl
IlepBoe — nepsOI'O tespanid
Bropoe — sropOl'O MapTA
Tpetbe — TpeTsEI'O anpend
UYereéproe — ueTBéprOr'O masd
ITaToe — narOT'O HroHA
IlecToe - wectOI'O wronfl
lBajuars nepeoe - aganiars + nepsOl'0, sTopOro, ... aBrycTA
Tpuguaroe - TpugLarOr'O ceHTabpA
Tpuguars nepeOr'o OKTAOpSI

Hoabps

JAexabpsd




Exercise 16.

Malke on the sample.

Sample Kakoe ceroua uHcio? Korjga? Kakoro uncna?

(What is ge date today?) (Wl;ls_n?j

Lol Cerojiua nepeoe ANBAPA. Meproro AnBaps.

21.01.
4.07.

6.01.

7.02.
8.03.

9.04.

10.05.
11.06.
12.07.
13.08.
20,09,
21.10.
22.11.
23.12.
24.01.
302,

31.03.
25.12.
23.11.

P.S. The numerals with the ending — OE are also used
in situations when you need to buy a ticket for any type
of transport. You also use the preposition HA. For example,
when you buy a ticket, you should say: MHue HyxeH Ouser



Mocksa — IlerepOypr na BTop-OE mapra. (I'd like to book

a seat from Moscow to St.-Peterburg on the 21 of March.)
Answer a question, using the sample.
Sample: ¥V MeHs [IeHb pPOXACHUS CEMHAALATOrO SIHBAPA.

(I was born on the 17" of J anuary.)
Korpaa y Bac nens poxaenusi? (When were you born?/What
date is your birthday?) ¥V MeHs neHp poxaeHus. . .



Days of week

Yesterday Today Tomorrow
IMonegensHUK

BropHuK

B Cpepa
Bbina . Yerpepr Byger ...
Beino IsTHHLA

Cy6bora

Bockpecenbe

Buepa 011 BropHuk? Ceroansi BropHuk? 3aBTpa 0Oy-
net BTopHuK? The table lists the answers to these questions.

If you get up in the morning and forget not a date)), but
what today (today, tomorrow), is a day of week, you should
ask someone: Kakoii cerogns aenp Henmenu? (What day is it
today?) Kaxkoii nmenp Hemermm Obi1 Buepa? (What day was it
yesterday?) Kakoii nenp Henmenu Oymet 3aBTpa? (What day will
it be tomorrow?) Or: Cerogns uetBepr? (Is it Thursday today?)
3aBtpa cyooora? (Will it be Saturday tomorrow?) Buepa Obin
BTOpHUK? (Was it Tuesday yesterday?)

For example: Buepa Obina narauna. Cerogas cpena. 3aBTpa
oyner BropHuK. Only in these cases days of the week are used
without preposition.



When you answer the question “Korga..?”” (When...?) or
you talk about an event that takes place on a certain day of the
week, you add the preposition B (Bo) and change the endings
of the nouns of feminine gender :

B nonegeabHNK

Bo BTOpHUK

B cpeny

B yeTBepr

B natauny

B cy660TY

B Bockpecenbe

For example: — Koraa Thl Bepaébcsi? — B cpeny. (When will
you be back? — On Wednesday.) Or: § xonun Tyga B NSTHULLY.
(I went there on Friday.)

When you use any verb in a sentence, you also use the
preposition and change a noun’s ending. For example: Onu npu-
exayi (rmpuexars — C.B.) B cpefty. S cMoTpesn (CMOTpeTh — H.B.)
¢uneMm B cyd00TY.

Compare: Ceromus cyooora. § npuexana B cyoooTy.

Exercise 17.

Insert a noun given in brackets with or without preposition.

Sample: OnHa mpuexayia ...................... (cpema). — Ona
npuexajia B cpeay.

1. Kaxoit CerofHs  I€eHb wegemu? —  Cero-
D113 6 P (TTOHEIETILHUK ).

2.4 BUIEN (BUIETh — H.B.) MAMY ...onuveenineennnnnnn. (BTOP-



HUK).
3.Mbl xomuau (XOOUTh — H.B.) B KHMHO .......ccoeveeeeenn....

(mgTHULA).

4.5 paboTaro .........coovviiiiiiiiiiian. (BTOpHUK).

5.3aBTPa ...ovvviiiiiii (cy60oTa), moatomy 51 He pado-
Talo.

6. — Korma Tbl BepHEmbCA? (BEpHYTbCS — C.B.) —
......................... (BOCKpeceHbe).

7.—BUuepaObul ......c.ovviiiiannin, (nonenenbHuk)? — Her,
......................... (BTOpPHHUK).

Answer the questions:

Bel padotaere B cyoooTy?

Bbl paboraere B roHeIeIbHUK ?
CeronHs BockpeceHbe?
3aBTpa MOHEIETbHUK 7

Brl oTpIXaete B BOCKpeceHbe?



Models: {1 106110, 1 MOTY, s1 X04Y,
a coouparocsk (I like, I can, I wish,
I am going to do smth) + Infinitive

are used in replies to the questions:

— Yro eI moduTe Aenath? (What do you like to do?) — Yto BB
Moxkete aenars? (What can you do?) — Yrto Bbl XxOTUTE A€aTh?
(What do you want to do?) — Yro Bb coOupaetech nenarh? (What
are you going to do?)

Note that in replies to these questions, the verb “nmenatp” is
not needed.

A xouy penats cnartb. — Incorrect. 4 xouy cnare. — Correct.

Mous (H.B.) XoteTs (H.B.) JTio6uTs (H.B.) Cobuparbca (H.B.)
b2 mory A xouy A mobmo 1 cobupatock

Mbli MOXKEM Mbi XOTHM Mb1 n0bum Mui cobupaemes

Tol MOMKelllb Tt Xouelllb Thi mroGuILL Tel cobupaeibcs
Bbi MOKeTe Bei X0THUTe Bbl mobute Bbi cobupaetech
OH, OHa MOMeT OH, oHa XoueT OH, oHa abuT On, oHa cobupaetca
Onm MOryT Onu XOTAT Onu mobar Onu cobupatorcs

Memorize the conjugations of the verbs MOUYb, XO-
TETbD, JIIOBUTb!



When you want to talk with a Russian-speaking interlocutor
about what he likes, can or wants to do, your questions are
constructed as follows:

Brb1 mooute (Moxkete, xotute) + Infinitive?

For example:

Bel Mmoxete pucoBarb? (Can you draw?)

Bor mobute cmotpers ¢dytoon? (Do you like to watch
football?)

Br1 xotute ects? (Do you want to eat?)

Be1 xotute cniath? (Do you want to sleep?)

Br1 mobute otorpadpuposars? (Do you like taking photos?)

Bbi MmoxeTe momoun? (Can you help?)

Bl xotute BbinuTh? (Do you want a drink?) (This question
implies that you are asking someone if he wants to drink alcohol.)

HesyllKa XoueT PucoBars.

MysKuuHa mobuT BBbIHTH 3aMYK.
XYA0HKHUK MOXET Hparbes.

PebérHoK nrobUT HWrpare Ha MMaHHHO.
My3bIKAHT MOMET CMOTPEeTb MYTETHOHIBM.

Exercise 18. Connect the parts of the sentences in the table.

Complete the sentences using the infinitive.



Bel xotute nuth? (Do you want to drink?) (When you use the
verb “nute”, the question implies that you are asking someone if
he wants some water, juice or tea).



Konen 03HaKOMUTEJLHOI'O
¢dparmenra.

Tekct npenocraBieH OO0 «JIutPec».

[IpounTaiiTe STy KHUTY LIEJIMKOM, KYIIUB TOJIHYIO JIETATbHYIO
Bepcuio Ha JIutPec.

Be3ormacHo oriaTuTh KHATY MOKHO OaHKOBCKOH KapToit Visa,
MasterCard, Maestro, co cuyera MOOMJIBHOTO TesiehOHa, C TiIa-
Te)KHOro TepMmuHaia, B cajoHe MTC wmm Cesa3HoOHM, uepe3
PayPal, WebMoney, Aunexc./lensru, QIWI Komenek, 60Hyc-
HBIMU KapTaMu WK APYTUM YI0OHBIM Bam crioco6om.



https://www.litres.ru/tatyana-yakovlevna-tumali/russian-language-for-crazy-tutorial/
https://www.litres.ru/tatyana-yakovlevna-tumali/russian-language-for-crazy-tutorial/

	From the author
	Алфавит
	The Terms
	The Greeting and Farewell in Russian

	The Introducing
	The Gender of Nouns
	The Singular and Plural Nouns
	The Model – У вас есть..? =Do you have…?
	The Model – У меня нет… =I have no…
	The Past Tense, the Present Tense, the Future Tense
	The Possessive Pronouns
	The Numeral
	Model Сколько стоит..? =How much is..?
	The Formation of the Past Tense of Verbs
	The Present Tense
	The Future Tense
	Model – Где..? =Where…? (case 6)
	The Use of the Verb БЫТЬ
	Model – На каком этаже..? =On what floor..? (case 6)
	Model – Какое сегодня число? =What is the date today?
	Days of week
	Models: Я люблю, я могу, я хочу, я собираюсь (I like, I can, I wish, I am going to do smth) + Infinitive
	Конец ознакомительного фрагмента.

